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Pool A 1 2 3 4 B5E -¥) B2
FERERA=THREERHECK 1 : 9|3 419 2 1 3
EPHHEEXEBRK 9 = 1 5 ¢ 2113 : 0 3 1
EPHEERINCERERRENAR | 4 @ 3|12 5 7 0 2 2
SABEZEABNESE(REYLEZRAK| 2 @ 90 : 130 : 7 0 4

Pool B 1 2 3 B5E %) B2
MEEADERBEHREEEEETAR 2 : 6|6 1 2 1 0 2
SABZEANBHNESE-BKREREEZAR 6 : 2 4 : 5 1 3 1
EPHBERRITERERBECK 2 : 65 : 4 1 -3 3

Pool C 1 2 3 B5E %) B2
BRI EmRaRfREETEESREBHEBAK 2 6|2 : 3 0 3
BEENEZEAREPLDE 6 : 2 4 2 2 1

BEABNECE-ERREREBEAK 3 212 : 4 1 2

Pool D 1 2 3 B5E %) B2
BEPHBERARIBRERHESDE 3 0 214 1 2 1
BEPHATFRTHEIRZRHEAR 2 3 1 : 9 0 3
BERENEIEEEAZRBR 1 : 419 : 1 1 2

Pool E 1 2 3 BB -¥2) B2
BEENSEmEERMREETEEEREMEBK 3 3|1 5 0 3
EPHBERIMTRZERHEAR 3 3 5 3 2 1
MEENDBEEAGBNESE (REEZRBER ) 5 : 1|3 : 5 1 2
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Pool A 2 3 4 58 -V b7
BANEFRRIGAK 8 1|2 217 2 3 1
EEREEM =T EERIBEBK 1 8 3 711 3 0 4
sEPmEERILMTEZRIBEBEK 2 217 3 3 4 1 3
ShiB/KRIERBEK 2 713 1| 4 3 2 2

Pool B 2 3 4 B8 i) B
MEIZAPEREHESEREEEBRK 0 11| 0 911 9 0 4
armEBLREARK 11 0 11 01 2 4 2 9 1
EPmBERARTEZERBEAR 9 0o 11 5 1 2 -7 3
SEZABAESE-BKESREEBZBEK | 9 1|4 211 5 2 -2 2

Pool C 1 2 3 558 B b7
REBBRARK 7 518 0 2 1
HEDEAPEEEH ERE RS G EZE)AK 5 7 7 0 1 2
SmAIKETERBE#EBK 0 8|0 7 0 3
Pool D 1 2 3 558 Vo) 72
BrmEOLREBRK 18 0| 4 1 2 1
SEPmZEIERILNH E IR R IE B 0 18 5 3 1 2
BERBAEIEEEZ A ZRAK 1 413 5 0 3
Pool E 1 2 3 IS8 B B
armEONREDEK 7 115 0 2 1
EPmBEERILNHERRBECHK 1 7 2 3 0 3
SPHAATKE ERBEBAK 0 15| 3 2 1 2
Pool F 1 2 3 IS8 O-Va) B
RERRCK 1 6|1 7 0 3
BEBAEE L AZEDOHAK 6 1 2 5 1 2
ShiBKRIBECHE 7 1|5 2 2 1
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Pool G 1 2 3 B5E =% B2
HEEADEBSET R S (i iZH)BE 15 ¢ 0] 2 8 1 2
FERERM=THTRERHEAK 0 : 15 3 7 0 3
N RERRRAK 8 : 27 : 3 2 1

Pool H 1 2 3 BE# B 7=
MEEATEEBHESEEEESECK 6 : 0|7 : 1 2 1
BAENEFRIRIADK 0 : 6 6 : 0 1 2
REBADU=EEARBRET/ODE 1 : 7|0 : 6 0 3

Pool | 1 2 3 558 (-0s) 7=
EPmBERANRTERBEHREBK 3 7|11 : 3 0 3
BEEANEEZEEABEPLBE 7 3 2 4 1 2
ShBKRIBRAK 3 0 : 14 @ 2 2 1

Pool J 1 2 3 B5E =% B2
BEANEBFRBIGBEK 6 : 13 : 4 1 2
EPhAFebHETRZRHEBK 1 : 6 2 : 10 0 3
EPHBEREITEREREAK 4 : 3]10 : 2 2 1

Pool K 1 2 3 B5E (=) B2
abmELRECK 4 4110 : © 1 2
HEEADEGETE R S (i E ) CK 4 4 9 0 2 1
EEBRMU=REARMREDLCEK 0 : 100 : 9 0 3

Pool L 1 2 3 BE# (E9s) 7=
REBERBK 4 2|6 = 2 2 1
AR ERERZERBE 2 4 1 : 5 0 3
EPHBERERITRBRHEDEK 2 : 6|5 1 1 2
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Pool A 2 3 4 B5E %) &
BN EENESEBE 1 712 312 5 0 4
AR ERERERCK 8 1]5 4 3 1
EPHBEEERITRZRHEBK 1 8 8 1 2 2
SAEBEABNETE(BEHEZR)BK 4 511 8 1 3
Pool B 1 2 3 B5E l=¥a) &
BHEMAEENESEAR 7 0|2 4 1 2
BEPHATEDETEZERBECE o : 7 3 7 0 3
SAEEABHEZE-BRESRUEBEBK 4 2|7 3 2 1
Pool C 1 2 3 B5E %) &
EPHHREREAK 8 2|15 1 2 1
EFHBEEARTRERBECK 2 8 4 1 1 2
BEBNU=REARMREDOBK 1 15( 1 4 0 3
Pool D 1 2 3 BI5E %) 7=
EANEBFRIBIGCK 2 6|1 4 0 3
BEBNEEEEABEPLCK 6 2 1 4 1 2
RERRDEK 4 1|4 1 2 1
Pool E 1 2 3 B5E i=Va) &
EEREERA=TTRREHEDK 4 1|12 0 2 1
AR ERRBERERMDEK 1 4 7 1 1 2
REBAU=EEARBBREP OAR 0 121 7 0 3
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